

CONGRUENCES MODULO POWERS OF 2 FOR GENERALIZED FROBENIUS PARTITIONS WITH SIX COLORS

SU-PING CUI AND NANCY S. S. GU

ABSTRACT. We establish some congruences modulo powers of 2 for the function $c\phi_6(n)$ which denotes the number of generalized Frobenius partitions of n with six colors.

1. INTRODUCTION

The concept of generalized Frobenius partitions with k colors was introduced by Andrews [1]. A generalized Frobenius partition of n with k colors is a two-rowed array

$$\begin{pmatrix} a_1 & a_2 & \dots & a_m \\ b_1 & b_2 & \dots & b_m \end{pmatrix},$$

where $\sum_{i=1}^m (a_i + b_i + 1) = n$, and where the integer entries are taken from k distinct copies of the non-negative integers distinguished by color, and the rows are ordered first by size and then by color with no two consecutive like entries in any row. The number of this kind of partitions of n is denoted by $c\phi_k(n)$. Andrews [1] showed that

$$c\phi_2(2n + 1) \equiv 0 \pmod{2} \quad \text{and} \quad c\phi_2(5n + 3) \equiv 0 \pmod{5}.$$

Baruah and Sarmah [3] represented the generating function of $c\phi_6(n)$ in terms of Ramanujan's theta functions and established 2- and 3-dissections of it which imply that for $n \geq 0$,

$$\begin{aligned} c\phi_6(2n + 1) &\equiv 0 \pmod{4}, \\ c\phi_6(3n + 1) &\equiv 0 \pmod{9}, \\ c\phi_6(3n + 2) &\equiv 0 \pmod{9}. \end{aligned}$$

Xia [22] proved the following conjecture posed in [3]:

$$c\phi_6(3n + 2) \equiv 0 \pmod{3^3}.$$

Later, Gu et al. [9] and Hirschhorn [10] arrived at more congruences for $c\phi_6(n)$ modulo powers of 3. For more properties of $c\phi_k(n)$, one could see [2, 5, 7, 11–21, 23, 24].

Date: November 14, 2019.

2010 *Mathematics Subject Classification.* 11P83, 05A17.

Key words and phrases. generalized Frobenius partitions, congruences, Ramanujan's theta functions.

Here and in what follows, we have made use of the standard q -series notation [8]

$$(a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k), \quad |q| < 1.$$

For convenience, define f_k as

$$f_k := (q^k; q^k)_\infty.$$

Let $f(a, b)$ be Ramanujan's general theta function given by

$$f(a, b) = \sum_{n=-\infty}^{\infty} a^{\frac{n(n+1)}{2}} b^{\frac{n(n-1)}{2}}, \quad |ab| < 1.$$

Jacobi's triple product identity can be stated in Ramanujan's notation as follows:

$$f(a, b) = (-a; ab)_\infty (-b; ab)_\infty (ab; ab)_\infty.$$

Thus,

$$\begin{aligned} \varphi(q) &:= f(q, q) = \sum_{n=-\infty}^{\infty} q^{n^2} = \frac{f_2^5}{f_1^2 f_4^2}, \\ \psi(q) &:= f(q, q^3) = \sum_{n=0}^{\infty} q^{\frac{n(n+1)}{2}} = \frac{f_2^2}{f_1}, \\ f(-q) &:= f(-q, -q^2) = \sum_{n=-\infty}^{\infty} (-1)^n q^{\frac{n(3n-1)}{2}} = f_1. \end{aligned}$$

In this paper, we prove the following results.

Theorem 1.1. *For any prime p with $\left(\frac{-2}{p}\right) = -1$ and $n \geq 0$,*

$$c\phi_6 \left(6p^2n + 6pj + \frac{11p^2 + 1}{4} \right) \equiv 0 \pmod{2^3}, \quad (1.1)$$

$$c\phi_6 \left(6p^2n + 6pj + \frac{19p^2 + 1}{4} \right) \equiv 0 \pmod{2^3}, \quad (1.2)$$

where $j = 1, 2, \dots, p-1$.

Theorem 1.2. *For $\alpha \geq 1$ and $n \geq 0$,*

$$c\phi_6 \left(2 \cdot 3^{4\alpha}n + \frac{3^{4\alpha-1} + 1}{4} \right) \equiv 0 \pmod{2^4}.$$

2. MAIN RESULTS

In this section, we prove Theorems 1.1 and 1.2.

Lemma 2.1. [6] *For any prime $p \geq 5$,*

$$f(-q) = \sum_{\substack{k = -\frac{p-1}{2} \\ k \neq \pm \frac{p-1}{6}}}^{\frac{p-1}{2}} (-1)^k q^{\frac{3k^2+k}{2}} f \left(-q^{\frac{3p^2+(6k+1)p}{2}}, -q^{\frac{3p^2-(6k+1)p}{2}} \right) + (-1)^{\frac{\pm p-1}{6}} q^{\frac{p^2-1}{24}} f(-q^{p^2}).$$

Further, we claim that for $-(p-1)/2 \leq k \leq (p-1)/2$ and $k \neq (\pm p-1)/6$,

$$\frac{3k^2 + k}{2} \not\equiv \frac{p^2 - 1}{24} \pmod{p}.$$

Lemma 2.2. [6] For any odd prime p ,

$$\psi(q) = \sum_{k=0}^{\frac{p-3}{2}} q^{\frac{k^2+k}{2}} f\left(q^{\frac{p^2+(2k+1)p}{2}}, q^{\frac{p^2-(2k+1)p}{2}}\right) + q^{\frac{p^2-1}{8}} \psi(q^{p^2}).$$

Furthermore, we claim that for $0 \leq k \leq (p-3)/2$,

$$\frac{k^2 + k}{2} \not\equiv \frac{p^2 - 1}{8} \pmod{p}.$$

Setting $p = 3$ in Lemma 2.2, we arrive at

$$\psi(q) = q\psi(q^9) + f(q^3, q^6) = q\psi(q^9) + \varphi(-q^9) \frac{f_6}{f_3}. \quad (2.1)$$

Then

$$\psi(-q) = -q\psi(-q^9) + f(-q^3, q^6). \quad (2.2)$$

Lemma 2.3. We have

$$\begin{aligned} f_1^2 &\equiv f_2 \pmod{2}, \\ f_1^4 &\equiv f_2^2 \pmod{4}. \end{aligned}$$

Proof of Theorem 1.1. Baruah and Sarmah [3] showed that

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6(2n+1)q^n &= 36 \frac{f_2^{29}}{f_1^{25} f_4^6} \varphi(q^3) + 448q \frac{f_2^5 f_4^{10}}{f_1^{17}} \varphi(q^3) + 240q \frac{f_2^{23} f_{12}^2}{f_1^{23} f_4^2 f_6} \\ &\quad + 256q^2 \frac{f_4^{14} f_{12}^2}{f_1^{15} f_2 f_6}. \end{aligned}$$

Then

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6(2n+1)q^n &\equiv 4 \frac{f_2^{29}}{f_1^{25} f_4^6} \varphi(q^3) \pmod{2^4} \\ &= 4 \frac{f_2^{28}}{f_1^{24} f_4^8} \varphi(q^3) \psi(q) \psi(q^2). \end{aligned}$$

Employing Lemma 2.3 yields that

$$\frac{f_2^{28}}{f_1^{24} f_4^8} \equiv \frac{f_2^{28}}{f_2^{12} f_2^{16}} = 1 \pmod{4}.$$

So we have

$$4 \frac{f_2^{28}}{f_1^{24} f_4^8} \equiv 4 \pmod{2^4}.$$

Therefore,

$$\sum_{n=0}^{\infty} c\phi_6(2n+1)q^n \equiv 4\varphi(q^3)\psi(q)\psi(q^2) \pmod{2^4} \quad (2.3)$$

$$\begin{aligned} &= 4\varphi(q^3) \left(\varphi(-q^9) \frac{f_6}{f_3} + q\psi(q^9) \right) \left(\varphi(-q^{18}) \frac{f_{12}}{f_6} + q^2\psi(q^{18}) \right) \\ &= 4\varphi(q^3) \left(\varphi(-q^9)\varphi(-q^{18}) \frac{f_{12}}{f_3} + q\varphi(-q^{18})\psi(q^9) \frac{f_{12}}{f_6} \right. \\ &\quad \left. + q^2\varphi(-q^9)\psi(q^{18}) \frac{f_6}{f_3} + q^3\psi(q^9)\psi(q^{18}) \right), \end{aligned} \quad (2.4)$$

where in the penultimate line we employ (2.1). Therefore,

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6(2(3n+1)+1)q^n &= \sum_{n=0}^{\infty} c\phi_6(6n+3)q^n \\ &\equiv 4\varphi(q)\varphi(-q^6)\psi(q^3) \frac{f_4}{f_2} \pmod{2^4} \\ &= 4 \frac{f_2^5}{f_1^2 f_4^2} \frac{f_6^2}{f_{12}} \psi(q^3) \frac{f_4}{f_2}. \end{aligned}$$

Using Lemma 2.3, we arrive at

$$\frac{f_2^5}{f_1^2 f_4^2} \frac{f_6^2}{f_{12}} \frac{f_4}{f_2} \equiv \frac{f_2^5}{f_2 f_2^4} \frac{f_{12}}{f_{12}} \frac{f_2^2}{f_2} = f(-q^2) \pmod{2}.$$

So

$$4 \frac{f_2^5}{f_1^2 f_4^2} \frac{f_6^2}{f_{12}} \frac{f_4}{f_2} \equiv 4f(-q^2) \pmod{2^3}.$$

Thus,

$$\sum_{n=0}^{\infty} c\phi_6(6n+3)q^n \equiv 4\psi(q^3)f(-q^2) \pmod{2^3}.$$

Then in view of Lemma 2.1 and Lemma 2.2, we arrive at that for a prime $p \geq 5$ and $-(p-1)/2 \leq k, m \leq (p-1)/2$, consider

$$3 \cdot \frac{k^2+k}{2} + 2 \cdot \frac{3m^2+m}{2} \equiv \frac{11p^2-11}{24} \pmod{p}.$$

Namely,

$$(6k+3)^2 + 2(6m+1)^2 \equiv 0 \pmod{p}.$$

Since $\left(\frac{-2}{p}\right) = -1$, we get $k = (p-1)/2$ and $m = (\pm p-1)/6$. Then

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6 \left(6 \left(pn + \frac{11p^2-11}{24} \right) + 3 \right) q^n &= \sum_{n=0}^{\infty} c\phi_6 \left(6pn + \frac{11p^2+1}{4} \right) q^n \\ &\equiv 4\psi(q^{3p})f(-q^{2p}) \pmod{2^3}. \end{aligned}$$

So we obtain

$$c\phi_6 \left(6p(pn + j) + \frac{11p^2 + 1}{4} \right) \equiv 0 \pmod{2^3},$$

where $j = 1, 2, \dots, p-1$. Moreover, applying (2.4), we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6 (2(3n+2) + 1) q^n &= \sum_{n=0}^{\infty} c\phi_6 (6n+5) q^n \\ &\equiv 4\varphi(q)\varphi(-q^3)\psi(q^6) \frac{f_2}{f_1} \pmod{2^4} \\ &= 4 \frac{f_2^5}{f_1^2 f_4^2} \frac{f_3^2}{f_6} \psi(q^6) \frac{f_2}{f_1}. \end{aligned}$$

Applying Lemma 2.3 yields that

$$\frac{f_2^5}{f_1^2 f_4^2} \frac{f_3^2}{f_6} \frac{f_2}{f_1} \equiv \frac{f_2^5}{f_2 f_2^4} \frac{f_6}{f_6} \frac{f_1^2}{f_1} = f(-q) \pmod{2}.$$

Hence,

$$\sum_{n=0}^{\infty} c\phi_6 (6n+5) q^n \equiv 4\psi(q^6)f(-q) \pmod{2^3}.$$

Then the proof of (1.2) is similar to that of (1.1). Here we omit it. □

Lemma 2.4. [4, Corollary (i), p. 49]

$$\varphi(q) = \varphi(q^9) + 2qf(q^3, q^{15}). \tag{2.5}$$

Lemma 2.5. Let $a(n)$ be defined by

$$\sum_{n=0}^{\infty} a(n)q^n = \varphi(-q)\varphi(-q^2)\psi(-q^3).$$

Then we have

$$\sum_{n=0}^{\infty} a(3n)q^n \equiv \varphi(-q^3)\varphi(-q^6)\psi(-q) \pmod{4}.$$

Proof. First, from (2.5), it can be seen that

$$\begin{aligned} &\sum_{n=0}^{\infty} a(n)q^n \\ &= (\varphi(-q^9) - 2qf(-q^3, -q^{15})) (\varphi(-q^{18}) - 2q^2f(-q^6, -q^{30})) \psi(-q^3) \\ &= \varphi(-q^9)\varphi(-q^{18})\psi(-q^3) - 2q\varphi(-q^{18})\psi(-q^3)f(-q^3, -q^{15}) \\ &\quad - 2q^2\varphi(-q^9)\psi(-q^3)f(-q^6, -q^{30}) + 4q^3\psi(-q^3)f(-q^3, -q^{15})f(-q^6, -q^{30}) \\ &\equiv \varphi(-q^9)\varphi(-q^{18})\psi(-q^3) - 2q\varphi(-q^{18})\psi(-q^3)f(-q^3, -q^{15}) \\ &\quad - 2q^2\varphi(-q^9)\psi(-q^3)f(-q^6, -q^{30}) \pmod{4}. \end{aligned}$$

Therefore,

$$\sum_{n=0}^{\infty} a(3n) q^n \equiv \varphi(-q^3)\varphi(-q^6)\psi(-q) \pmod{4}.$$

Here we complete the proof. \square

Lemma 2.6. For $\alpha \geq 0$ and $n \geq 0$,

$$\sum_{n=0}^{\infty} c\phi_6 \left(2 \cdot 3^{4\alpha} n + \frac{3^{4\alpha+1} + 1}{4} \right) q^n \equiv 4\varphi(q^3)\psi(q)\psi(q^2) \pmod{2^4}.$$

Proof. First, from (2.4), it can be seen that

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6 (2(3n) + 1) q^n &= \sum_{n=0}^{\infty} c\phi_6 (6n + 1) q^n \\ &= 4\varphi(q)\varphi(-q^3)\varphi(-q^6) \frac{f_4}{f_1} + 4q\varphi(q)\psi(q^3)\psi(q^6) \\ &= 4\varphi(-q^3)\varphi(-q^6) \frac{f_2^5}{f_1^3 f_4} + 4q\varphi(q)\psi(q^3)\psi(q^6). \end{aligned}$$

Applying Lemma 2.3, we derive

$$\frac{f_2^5}{f_1^3 f_4} = \frac{f_1 f_2 f_2^4}{f_1^4 f_4} \equiv \frac{f_1 f_2 f_4^2}{f_2^2 f_4} = \psi(-q) \pmod{4}.$$

So we have

$$4\varphi(-q^3)\varphi(-q^6) \frac{f_2^5}{f_1^3 f_4} \equiv 4\varphi(-q^3)\varphi(-q^6)\psi(-q) \pmod{2^4}.$$

Therefore,

$$\sum_{n=0}^{\infty} c\phi_6 (6n + 1) q^n \equiv 4\varphi(-q^3)\varphi(-q^6)\psi(-q) + 4q\varphi(q)\psi(q^3)\psi(q^6) \pmod{2^4}. \quad (2.6)$$

Then by means of (2.2) and (2.5), we see that

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6 (6(3n + 1) + 1) q^n &= \sum_{n=0}^{\infty} c\phi_6 (18n + 7) q^n \\ &\equiv -4\varphi(-q)\varphi(-q^2)\psi(-q^3) + 4\varphi(q^3)\psi(q)\psi(q^2) \pmod{2^4}. \end{aligned}$$

Applying (2.3), Lemma 2.5, and (2.6) yields

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6 (18(3n) + 7) q^n &= \sum_{n=0}^{\infty} c\phi_6 (54n + 7) q^n \\ &\equiv -4\varphi(-q^3)\varphi(-q^6)\psi(-q) + 4\varphi(-q^3)\varphi(-q^6)\psi(-q) \\ &\quad + 4q\varphi(q)\psi(q^3)\psi(q^6) \pmod{2^4} \\ &= 4q\varphi(q)\psi(q^3)\psi(q^6). \end{aligned} \quad (2.7)$$

CONGRUENCES MODULO POWERS OF 2 FOR GENERALIZED FROBENIUS PARTITIONS WITH SIX COLORS 5
 From (2.5), it can be shown that

$$\begin{aligned} \sum_{n=0}^{\infty} c\phi_6(54(3n+1)+7)q^n &= \sum_{n=0}^{\infty} c\phi_6(162n+61)q^n \\ &\equiv 4\varphi(q^3)\psi(q)\psi(q^2) \pmod{2^4}. \end{aligned}$$

Therefore, combining (2.3) with the above relation, we derive

$$c\phi_6(162n+61) \equiv c\phi_6(2n+1) \pmod{2^4}.$$

By induction on α , we conclude the lemma based on the above relation. \square

Proof of Theorem 1.2. For $\alpha \geq 0$ and $n \geq 0$, from (2.3) and Lemma 2.6, it can be seen that

$$\sum_{n=0}^{\infty} c\phi_6(2n+1)q^n \equiv \sum_{n=0}^{\infty} c\phi_6\left(2 \cdot 3^{4\alpha}n + \frac{3^{4\alpha+1}+1}{4}\right)q^n \pmod{2^4}. \quad (2.8)$$

In addition, rewrite (2.7) as

$$\sum_{n=0}^{\infty} c\phi_6(2(27n+3)+1)q^n \equiv 4q\varphi(q)\psi(q^3)\psi(q^6) \pmod{2^4}.$$

Then combining (2.8) with the above congruence yields

$$\begin{aligned} &\sum_{n=0}^{\infty} c\phi_6\left(2 \cdot 3^{4\alpha}(27n+3) + \frac{3^{4\alpha+1}+1}{4}\right)q^n \\ &= \sum_{n=0}^{\infty} c\phi_6\left(2 \cdot 3^{4\alpha+3}n + \frac{3^{4\alpha+3}+1}{4}\right)q^n \\ &\equiv 4q\varphi(q)\psi(q^3)\psi(q^6) \pmod{2^4} \\ &= 4q(\varphi(q^9) + 2qf(q^3, q^{15}))\psi(q^3)\psi(q^6), \end{aligned} \quad (2.9)$$

where we use (2.5) in the last line. Since there are no terms with powers of q congruent to 0 modulo 3 on the right-hand side of (2.9), we have

$$c\phi_6\left(2 \cdot 3^{4\alpha+3}(3n) + \frac{3^{4\alpha+3}+1}{4}\right) \equiv 0 \pmod{2^4}.$$

Here we complete the proof. \square

Acknowledgements: This work was supported by the National Natural Science Foundation of China and the Fundamental Research Funds for the Central Universities of China.

REFERENCES

- [1] G.E. Andrews, Generalized Frobenius Partitions, Mem. Amer. Math. Soc. 301, Providence, RI, May 1984.
- [2] N.D. Baruah, B.K. Sarmah, Congruences for generalized Frobenius partitions with 4 colors, Discrete Math. 311 (2011), 1892–1902.
- [3] N.D. Baruah, B.K. Sarmah, Generalized Frobenius partitions with 6 colors, Ramanujan J. 38 (2015), 361–382.

- [4] B.C. Berndt, Ramanujan's Notebooks, Part III, Springer-Verlag, New York (1991).
- [5] H.H. Chan, L.Q. Wang, Y.F. Yang, Modular forms and k -colored generalized Frobenius partitions, Trans. Amer. Math. Soc. DOI: <https://doi.org/10.1090/tran/7447>.
- [6] S.-P. Cui, N.S.S. Gu, Arithmetic properties of ℓ -regular partitions, Adv. Appl. Math. 51 (2013), 507–523.
- [7] D. Eichhorn, J.A. Sellers, Computational proofs of congruences for 2-colored Frobenius partitions, Int. J. Math. Math. Sci. 29 (2002), 333–340.
- [8] G. Gasper, M. Rahman, Basic Hypergeometric Series, Second Ed., Cambridge University Press, Cambridge, 2004.
- [9] C. Gu, L.Q. Wang, E.X.W. Xia, Congruences modulo powers of 3 for generalized Frobenius partitions with six colors, Acta Arith. 175 (2016), 291–300.
- [10] M.D. Hirschhorn, Some congruences for 6-colored generalized Frobenius partitions, Ramanujan J. 40 (2016), 463–471.
- [11] L.W. Kolitsch, An extension of a congruence by Andrews for generalized Frobenius partitions, J. Combin. Theory Ser. A 45 (1987), 31–39.
- [12] L.W. Kolitsch, A congruence for generalized Frobenius partitions with 3 colors modulo powers of 3, in Analytic Number Theory, Proceedings of a Conference in Honor of Paul T. Bateman, Birkhäuser Boston, Boston, MA, 1990, 343–348.
- [13] B.L.S. Lin, New Ramanujan type congruence modulo 7 for 4-colored generalized Frobenius partitions, Int. J. Number Theory 10 (2014), 637–639.
- [14] J. Lovejoy, Ramanujan-type congruences for three colored Frobenius partitions, J. Number Theory 85 (2000), 283–290.
- [15] K. Ono, Congruences for Frobenius partitions, J. Number Theory 57 (1996), 170–180.
- [16] P. Paule, C.-S. Radu, The Andrews-Sellers family of partition congruences, Adv. Math. 230 (2012), 819–838.
- [17] J.A. Sellers, Congruences involving generalized Frobenius partitions, Int. J. Math. Math. Sci. 16 (1993), 413–415.
- [18] J.A. Sellers, Congruences involving F -partition functions, Int. J. Math. Math. Sci. 17 (1994), 187–188.
- [19] J.A. Sellers, New congruences for generalized Frobenius partitions with 2 or 3 colors, Discrete Math. 131 (1994), 367–374.
- [20] J.A. Sellers, Recurrences for 2-colored and 3-colored F -partitions, Discrete Math. 156 (1996), 303–310.
- [21] J.A. Sellers, An unexpected congruence modulo 5 for 4-colored generalized Frobenius partitions, J. Indian Math. Soc. (2013), 97–103, Special Volume to Commemorate the 125th Birth Anniversary of Srinivasa Ramanujan.
- [22] E.X.W. Xia, Proof of a conjecture of Baruah and Sarmah on generalized Frobenius partitions with 6 colors, J. Number Theory 147 (2014), 852–860.
- [23] W.L. Zhang, C. Wang, An unexpected Ramanujan-type congruence modulo 7 for 4-colored generalized Frobenius partitions, Ramanujan J. 44 (2017), 125–131.
- [24] W.L. Zhang, C. Wang, A unified proof of Ramanujan-type congruences modulo 5 for 4-colored generalized Frobenius partitions, J. Math. Anal. Appl. 447 (2017), 542–549.

(S.-P. Cui) CENTER FOR COMBINATORICS, LPMC, NANKAI UNIVERSITY, TIANJIN 300071, P.R. CHINA

E-mail address: jiayoucui@163.com

(N. S. S. Gu) CENTER FOR COMBINATORICS, LPMC, NANKAI UNIVERSITY, TIANJIN 300071, P.R. CHINA

E-mail address: gu@nankai.edu.cn